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Note: To be used for preparation for Police Exams to get
good score because most questions are repeated.

NPF exam is a computer-based test that usually contains

questions that are based on Mathematics, English Language,

and Current Affairs.

Mathematics, English Language,
and Current Affairs.
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Answer is B

Answer is D

11. How many units do the Nigerian police have?

A.4

B.5

C.6

D.7

GENERAL STUDIES AND CURRENT AFFAIRS 

1. The first Inspector General of the Nigerian Police Force was

A. Teslim Balogun

B. Louis Edet

C. Ademola Adetokunbo

D. Mike Okiro.

12. The position to the office of the Inspector General of police is done through

A. Election
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Answer is C

B. Nomination

C. Appointment

D. Academic Qualification

45. What is the full Meaning of IGP?

ANSWER: General Christopher Musa.

ANSWER: Inspector General of Police

44. Who is the present Chief of Defence Staff?

43. What are the objectives of the Nigerian Police Force?

ANSWER: The Nigerian police force objectives is to enhance the

quality of life in our country by working in partnership with the

community and in accordance with constitutional rights to enforce

the laws, preserve the peace, reduce fear and provide for a safe

environment.
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Answer: A

75. When you___ will you please help me?

a. Had finished

b. Finish

c. Finishes

d. To finish

e. Are finished

ENGLISH LANGUAGE AND
COMMUNICATION SKILLS :

51. The centre-forward was ____________consequently the goal was not

allowed

(a) In an offside position

(b) Very well positioned

(c) Brilliant player

(d) The captain of the team

From the word or group of words lettered A to D choose the best to complete
these sentences



ogajob.com.ng

Page 6

Answer: A

Answer is A

Solution:

The labourer salary is N5,400 per months

76. Anobtuseangleis_______.

A. greater than 90 degrees but less than 180 degrees

B. greater than 180 degrees but less than 360 degrees

C. 180 degrees

D. less than 45 degrees

E. less than 90 degrees

100. A labourer is paid N5,400 per month. What is his total salary in 1 ¾ years?

(a) N113,400

(b) N64,800

(c) N97,200

(d) N129,600

GENERAL MATHEMATICS PART:
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Therefore in 1 year he earn N5,400*12 = N64,800

¾ years = 9 months

So in 9 months he will earn N5,400*9 = N48,600

Therefore in 1 ¾ years he will earn N64,800+N48,600 = N113,400

Answer is A

To get it full copy of the NPF FREE PDF past questions and

answers, you are to:

This is a sample incomplete download of the NPF past exam
questions and answers, to get the full copy for free you are to
follow the instructions below.

Join the OgaJob WhatsApp group using the group link below:

Join the OgaJob group using the group link below:

Then message us through the whatsapp group tht you need the

Nigeria Police Force (NPF) Recruitment Past Questions and
Answers

We will send you the complete PDF of the Nigeria Police Force (NPF)

Recruitment Past Questions and Answers for free

https://chat.whatsapp.com/Hl5AHm93e7QIVsrBbE3ABW
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You can also WhatsApp us through the phone number:
08156930203

Get the Nigeria Police Force (NPF) Recruitment Past Questions
and Answers for FREE NOW!


